EXTRA PRACTICE - Selected Answers “Evens” 
          p.1
Chapter 1 (p.783)

2. 22  4. 75  6. 1536  8. 216  10. 30  12. 10  14. 52  16. 3  18. 6  20. 7  22. not a solution 
24. yes  26. yes  28. 
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  30. your friend’s score = 2 times your score; 24 
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Chapter 2 (p.784)

2. [image: image4.jpg]


 4. [image: image5.jpg]



6. –4  8. ¾  10. 45  12. –15  14. –1  16. 27  18. 4  20. –1  22. 7  24. –16  26. –31  

28. 42  30. –6  32. –64  34. 32  36. d = –6t  38. 6y + 30  40. 6 + 2w  42. –3r + 15 

44. –6x – 24  46. 10x  48. 2y + 3  50. 9r + 1  52. –9  54. –20  

Chapter 3 (p.785)

2. –15  4. –9  6. –3  8. –7  10. –10  12. 12  14. –4  16. 3  18. 6  20. –11  22. 7  24. 2  

26. –11  28. –1  30. 2  32. 
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  34. 0.27  36. 
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  38. 5.5 oz/can  40. 3.5 mi/h 

42. $320  44. 40%

Chapter 4 (p.786)
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p.2
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20. 3  22. –2  24. 14  26. –2  

28. 
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  32. –2  34. 
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  36. y = 20x  38. 
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48. not a function

Chapter 5 (p.787)

2. y = –3x – 2  4. y = –4x  6. y – 2 = –2(x – 5)  8. y – 1 = –5(x + 2)  10. y – 5 = 8(x – 1) 

12. y – 3 = 
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  16. y = 7  18. 
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  20. 5x – y = –15 

22. 3x – 4y = –13  24. 4x – y = 3  26. 5x + y = 25 
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  30. yes  32. yes  34. y = –x + 3  36. x = 3

Chapter 6 (p.788)
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p.3
10. x > 
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18. 
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  20. 
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22. 
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26. 
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28. no solution  30. 
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3, 3  32. 6, 10  34. 
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40. x < 
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42. 
[image: image56.wmf]23

x

££

[image: image57.jpg]



44. 
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p.4

Chapter 7 (p.789)
2. (0, 7)  4. (4, 5)  6. (–7, 14)  8. (0, 1)  10. (3, 4)  12. 
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[image: image65.wmf](

)

99

1010

,


18. 
[image: image66.wmf](

)

17

3

1,

-

  20. (5, –7)  22. Linear Combination (Addition/Subtraction) Method (3, 0)

24. Addition Method (6, 2)  26. Addition Method 
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  28. Addition Method (2, 3) 

30. one  32. infinitely many  34. one  36. one  
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Chapter 8 (p.790)

2. 212  4. 81c4d4  6. 16r3  8. 675x3y2  10. 
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 22. x  24. 
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p.5
Chapter 9 (p.791)
2. 25  4. 
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26  6. -11.18  8. 
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  12. 0  14. no solution  16. 
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34. 0, 1  36. -1, 4  38. -3, 3  40. x2 + x – 12 = 0; -4, 3  42. 3x2 + 11x – 4 = 0; -4, 1/3  

44. x2 – 3x + 2 = 0; 1, 2  46. x2 – 7x – 8 = 0; -1, 8  48. two solutions  50. two  

52. no real solution  54. two 
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          p.6
Chapter 10 (p.792)
2. 9x2 – 2x – 2  4. –z3 – z2 – z – 6  6. –a3 – 2a – 5  8. –3x3 – 15x2 + 15x  10. 2t2 + 19t + 9 
12. 15z2 – 4z – 32  14. –s3 + 3s2 + s – 3  16. c2 + 2cd + d2  18. –m2 + 49  

20. 25p2 – 60pq + 36q2  22. 100x2 – 25y2  24. 11  26. 0, 4  28. –2  30. –1/3, 0  
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40. –7, 5  42. –3, –1  44. 6, 8  46. 1, 4  48. –3, –1/2  

50. –3/4, –2/5  52. –5, 1/3  54. –9/2, 2/3  56. 9(b + 3)(b – 3)  58. 3(2 – 3x)(2 + 3x) 

60. (x + 10)2  62. 5(2x – 5)2  64. m(m + 4)(m + 7)  66. (x + 2)2(x – 2)  

68. (x2 + 4)(x – 1)  70. (t2 + 2)(8t – 3)  

Chapter 11 (p.793)
2. –4, 4  4. 19  6. –6, 1  8. y = 2x  10. 
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  40. 6  42. 3  44. –6, –2 
Chapter 12 (p.794)   
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          p.7
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10. 
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  18. 5  20. 8  22. 16  24. 3  26. 6  
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46. 14.56  48. 13.42  50. 5  52. (1.5, 1); d = 
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